
Janet and John - Lösung 

 

a) Read the text. 

 

Janet and John live in London. Janet is ten years old. John is eleven years old. Janet’s 

birthday is in May. She likes reading books and riding the bike. John’s birthday is in 

March. He likes playing football. 

 

b) Now answer the questions. The text will help you. 

 

What’s the girl’s name? 

 _______________________________________________________________________  

What’s the boy’s name? 

 _______________________________________________________________________  

How old is she? 

 _______________________________________________________________________  

When is John’s birthday? 

 _______________________________________________________________________  

What does Janet like to do? 

 _______________________________________________________________________  

What does John like to do? 

 _______________________________________________________________________  

 

 

(angelehnt an: Niveaubestimmende Aufgaben für die Grundschule, Englisch,  
URL: https://back.bildung-lsa.de/pool/RRL_Lehrplaene/nivgsengl.pdf) 

 

(The girl’s name is) Jane. 

(The boy’s name is) John. 

(She is) 10 years old. 

(John’s birthday is) in March. 

(Janet likes) reading books. 

(John likes) playing football. 
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